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[home]
[DFSORT] [ICETOOL] [SYNCSORT] [IDCAMS] [IEBCOPY] [IEFBR14]       

DFSORT
: many input and many output files

DFSORT is a program used to sort records in ascending or descending sequence, or to merge from 2 to 16 different files into one file. The input and output files processed by DFSORT can be sequential or VSAM files containing fixed-length or variable-length format records.

ICETOOL :

ICETOOL is a batch front-end utility that uses the capabilities of DFSORT to perform the operations you request.

ICETOOL is comprised of twelve operators that perform sort, copy, statistical, and report operations.  Most of the operations performed by ICETOOL require only simple JCL and operator statements.  Some ICETOOL operations require or allow you to specify complete DFSORT control statements (such as SORT, INCLUDE, and OUTFIL) to take full advantage of DFSORT's capabilities.

ICETOOL automatically calls DFSORT with the particular DFSORT control statements and options required for each operation (such as DYNALLOC for sorting).

SYNCSORT
: one input and one output file
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IDCAMS










IDCAMS, also know as Access Method Services, is used to perform the following tasks:

o Create a VSAM data set, VSAM alternate index, or catalog

o List a catalog entry for a data set, file/catalog contents

o Copy a file or catalog

o Print all or part of a data set in character or hex format

o Build a backup copy of a VSAM data set, catalog, non-VSAM data set, or an alternate index

o Convert non-VSAM to VSAM data set, VSAM to SAM format, CVOLs to ICF catalogs, VSAM catalog entries to ICF catalog entries

o Alter the attributes of a catalog or data set

o Catalog or Uncatalog VSAM/non-VSAM data set and GDGs

o Delete a VSAM or non-VSAM data set or volume records, catalog, path, GDG, alias, candidate volume, alternate index, page space, or truename catalog entry

o Verify a VSAM data set's software end-of-file indicator

o Attach a user catalog to the master catalog

o Create a MVS paging space, generation data group (GDG)

o Collect data set and volume info. on migration utility

o Connect catalogs to one another

o Import/Export VSAM data sets, catalogs
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o Load a VSAM file from SAM, ISAM, or VSAM records

o Unload a VSAM data set

o Merge ICF catalogs or recreate ICF entries

o Rename VSAM data sets

o Move a catalog and VSAM/non-VSAM data sets

IEBCOPY
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IEBCOPY is used to copy all or part of a Partitioned Data Set (PDS) or PDSE.  Selected members of a PDS or PDSE can be copied to another or the same PDS or PDSE and/or renamed.  A sequential backup copy of a PDS or PDSE can be made.  A PDS or PDSE can be refreshed from a sequential copy previously created by an unload.  You can load a PDS to an SMS managed PDSE.  Copying a PDSE to a PDS can be done, but application information stored in the directory of the PDSE will be lost.  Altering RLD counts for load modules in place can also be done. You can optionally reblock load modules during a copy operation. Finally, IEBCOPY is used to "compress" a PDS when all of its unused

internal space has been exhausted.  The compress operation reorganizes a PDS so that all previously unused space inside the PDS is reclaimed.

IEFBR14
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IEFBR14 is an IBM utility module which performs two simple functions:

-it loads register 15 with a value of 0

-it then does a branch to the address in register 14

Since register 14 is the standard IBM program linkage "return address" register, this immediately returns control to the calling program.  And since register 15 is the standard IBM program linkage "return code" register, the return code passed back to the calling program is always 0.

If the calling program is an application program which calls IEFBR14 according to standard IBM program linkage conventions, then IEFBR14 acts as a subroutine which immediately returns to the calling program and always passes back a return code of 0.  In other words, it functions as a subroutine "stub" which can be useful in some testing situations.

If IEFBR14 is executed as a standalone batch program; i.e.,

//JS10   EXEC PGM=IEFBR14

then it provides a convenient way to insert a job step into a given job which is guaranteed to set a return code of zero.  This job step can also be used to catalog or delete specified data sets from within a batch job.  For example, to delete existing, cataloged data set 'MY.DATA.SET', the following job step could be used:

//JS20   EXEC PGM=IEFBR14

//DD1    DD   DSN=MY.DATA.SET,DISP=(OLD,DELETE)   

[JCL]
2. COBOL    


                                        [home]
File organization

· Sequential

· Indexed

· Relative

Access Mode

· Sequential

· Random

· Dynamic

File sorting/Merging e.g.

DATA DIVISION.

.

.

SD SORT-FILE

RECORD CONTAINS 115 CHARECTERS

DATA RECORD SORT-RECORD

01 SORT-RECORD

05 SORT-KEY

10 SORT-SHIFT
PIC X(1).

10 KEY-1

PIC X(2).

10 KEY-2

PIC X(3).

05 SORT-REST-RECORD 
PIC X(109).

PROCEDURE DIVISION.

.

.

SORT SORT-FILE

ON ASCENDING KEY KEY-1 KEY-2

INPUT PROCEDURE 2000-XXXXX-

OUTPUT PROCEDURE 3000-XXXXX-

INPUT PROCEDURE Phrase:

This phrase specifies the name of a procedure that is to select or modify input records before the sorting operation begins.

OUTPUT PROCEDURE Phrase:

This phrase specifies the name of a procedure that is to select or modify output records from the sorting operation.
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CALL BY REFERENCE/BY CONTENT (default by reference)

When BY CONTENT is specified for a parameter, the value of that Parameter is assigned (i.e., moved) to the corresponding parameter of the called program. The two items do not, in this case, share the same Storage area.

When BY REFERENCE is specified or assumed for a parameter, the corresponding data item in the called program occupies the same storage area as the data item in the calling program.

STATIC/DYNAMIC CALLS

The CALL to a separately compiled subprogram can be either static or dynamic.

In a static CALL, the subprogram is part of the same load module. The first time it is called, the subprogram is already resident in storage. For subsequent calls, the subprogram is still in storage and control is transferred to it in its last used state (unless it possesses the INITIAL attribute).

In a dynamic CALL, the subprogram is link-edited into a separate load-module and is loaded into storage only if and when called.  The first dynamic CALL to a subprogram obtains a fresh copy of the subprogram. Subsequent dynamic calls transfer control to the same copy of the subprogram in its last used state  (unless it possesses the INITIAL

Attribute).

A/R MODE

IBM-default: NORESIDENT

RESIDENT, which conforms to the ANSI standard, specifies that the COBOL Library Management Feature be invoked.  This causes most COBOL library subroutines to be loaded dynamically at run time rather than being statically link-edited into the run unit.

(This allows for application programs to automatically pick up any fixes applied to the library subroutines without having to be link-edited again.) This option requires that the VS COBOL II subroutine library be included in the JOBLIB/STEPLIB concatenation at run time.

NORESIDENT, if used when compiling each COBOL program in the run unit, specifies that the load module contain all required VS COBOL II library subroutines needed for execution.  In this case, the VS COBOL II subroutine library need not be included in the JOBLIB/STEPLIB concatenation.
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The RESIDENT option is automatically in effect when the DYNAM option is specified or when the source program uses CALL identifier (i.e., a CALL statement where the program to be called is specified in the form of an identifier rather a literal).

Use of the VS COBOL II Library in conjunction with an OS/VS COBOL program compiled with the RESIDENT option may result in significant performance degradation at run time.

RMODE

A program compiled with the RMODE (AUTO) option will have RMODE (24) if

NORENT is specified, and RMODE (ANY) if RENT is specified. This is the same behavior as COBOL/370 Release 1 and VS COBOL II.

A program compiled with the RMODE (24) option will have RMODE (24) whether NORENT or RENT is specified.

A program compiled with the RMODE (ANY) option will have RMODE (ANY)

Whether NORENT or RENT is specified.

Note:  IBM COBOL for MVS & VM NORENT programs compiled with RMODE(ANY)

that are required to pass data to programs running in AMODE(24) must be link-edited with RMODE(24).  The data areas for NORENT programs will be above the line or below the line depending on the RMODE of the program, even if DATA(24) has been specified.

IBM COBOL for MVS & VM RENT programs that are required to pass data to programs running in RMODE(24) must be compiled with DATA(24).

AMODE

In MVS, a program attribute that refers to the address length that a program is prepared to handle upon entry. In MVS, addresses may be 24 or 31 bits in length.

Provided by the linkage editor, the attribute of a load module that indicates the addressing mode in which the load module should be entered.

COMPUTATIONAL

A computational item is a value used in arithmetic operations.  It must be numeric.  If the USAGE of a group item is described with any of these items, the elementary items within the group have this usage.

The maximum length of a computational item is 18 decimal digits, except for a PACKED-DECIMAL item.  If the ARITH(COMPAT) compiler option is in effect, then the maximum length of a PACKED-DECIMAL item is 18 decimal digits.  If the ARITH(EXTEND) compiler option is in effect, then the maximum length of a PACKED-DECIMAL item is 31 decimal digits.





[COBOL]
The PICTURE of a computational item can contain only:

9    One or more numeric character positions

S    One operational sign

V    One implied decimal point

P    One or more decimal scaling positions

COMPUTATIONAL-1 and COMPUTATIONAL-2 items (internal floating-point) cannot

have PICTURE strings.

BINARY

Specified for binary data items. Such items have a decimal equivalent consisting of the decimal digits 0 through 9, plus a sign. Negative numbers are represented as the two's complement of the positive number with the same absolute value.

The amount of storage occupied by a binary item depends on the number of decimal digits defined in its PICTURE clause:

	Digits in PICTURE Clause
	Storage Occupied

	1 through 4
	2 bytes (halfword)

	5 through 9
	4 bytes (fullword)

	10 through 18
	8 bytes (doubleword)


The operational sign for binary data is contained in the left most bit of the binary data.

PACKED-DECIMAL

Specified for internal decimal items.  Such an item appears in storage in packed decimal format.  There are 2 digits for each character position, except for the trailing character position, which is occupied by the low-order digit and the sign.  Such an item can contain any of the digits 0 through 9, plus a sign, representing a value not exceeding 18 decimal digits.

The sign representation uses the same bit configuration as the 4-bit sign representation in zoned decimal fields.  For details, see the IBM COBOL Programming Guide for your platform.

COMPUTATIONAL or COMP (Binary)

This is the equivalent of BINARY.  The COMPUTATIONAL phrase is synonymous with BINARY.

COMPUTATIONAL-1 or COMP-1 (Floating-Point)

Specified for internal floating-point items (single precision).

COMP-1 items are 4 bytes long.

COMPUTATIONAL-2 or COMP-2 (Long Floating-Point)


[COBOL]
Specified for internal floating-point items (double precision).

COMP-2 items are 8 bytes long.

COMPUTATIONAL-3 or COMP-3 (Internal Decimal)

This is the equivalent of PACKED-DECIMAL.

COMPUTATIONAL-4 or COMP-4 (Binary)

This is the equivalent of BINARY.

INSPECT VERB

The INSPECT statement specifies that characters, or groups of characters, in a data item are to be counted (tallied) or replaced or both.           

Example:                                                                          

INSPECT ID-1 TALLYING ID-2 FOR ALL "xx"   REPLACING ALL "xx" BY ZEROS.

before execution ID-1=xxx0xx      ID-2 =0

After execution ID-1 = 00x000  and ID-2 = 2  (count of matches)

INDEXED/SUBSCRIPT

Indexing allows such operations as table searching and manipulating specific items. To use indexing you associate one or more index-names with an item whose data description entry contains an OCCURS clause. An index associated with index-name acts as a subscript, and its value corresponds to an occurrence number for the item to which the index-name is associated.

The INDEXED BY phrase, by which the index-name is identified and associated with its table, is an optional part of the OCCURS clause. There is no separate entry to describe the index associated with index-name.  At run time, the contents of the index correspond to an occurrence number for that specific dimension of the table with which the index is associated.

The initial value of an index at run time is undefined, and the index must be initialized before it is used as a subscript.  An initial value is assigned to an index with one of the following:

-   The PERFORM statement with the VARYING phrase

-   The SEARCH statement with the ALL phrase
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-   The SET statement

The use of an integer or data-name as a subscript referencing a table element or an item within a table element does not cause the alteration of any index associated with that table.

Abends :

System ABEND: S0C7

Description:  This ABEND is a data exception and can only occur when decimal (packed) instructions are used.  One of the following can cause this error:

1) The sign or digit codes of one or more bytes manipulated by the packed or CONVERT TO BINARY instructions is invalid for packed decimal use. Packed decimal digits must be in the range 0 through 9, with only the sign (i.e., rightmost) digit being a digit in the range A through F.

2) Fields in decimal (packed) arithmetic overlap incorrectly.

3) A packed decimal multiplicand has too many high-order significant digits. Possible causes for this abend include:

Subscript error, referenced beyond table

COBOL: working storage not initialized bad data, should check data for errors garbage in a field being tested or displayed move zeroes to group level is display, had sublevels that were not period missing after imperative statements within AT END clause binary field in an arithmetic operation is not large enough to accept result

System ABEND: S0C4

Description:  This ABEND is caused by a hardware detected virtual address translation error, or a storage protection violation. Possible causes for this abend include:

COBOL: Invalid address was referenced due to subscript error or bad parameter passed In group move, receiving record variable length defined incorrectly Tried moving variable length record that was larger than target field size tried to read or write a file which was not open Used DD DUMMY with logic that moves high values to FD

Tried to call within COBOL SORT I/O procedure

Tried to "goback" in the SORT output procedure
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3. DB2                                                                                 [home]
DB2 THREADS

Is a DB2 structure that makes the connection between another subsystem and DB2. A thread describes an application's connection, traces its progress, and delimits its accessibility to DB2 resources and services. Most DB2 functions execute under a thread structure. The use of threads in making, monitoring, and breaking connections is described in the following sections:

NORMALIZATION

A table is said to be normalized if it meets a set of constraints for a particular normal form, which are described in this section. Normalization helps you avoid redundancies and inconsistencies in your data. This section briefly reviews the rules for first, second, third, and fourth normal forms of tables, and describes some reasons why these rules should or should not be followed. The fifth normal form of a table, which is covered in many books on database design, is not described here.

First normal form

Any relational table satisfies the requirement of first normal form: at each row-and-column position in the table, one value exists, never a set of values.

Second normal form

A table is in second normal form if each column that is not in the key provides a fact that depends on the entire key.

Third normal form

A table is in third normal form if each non-key column provides a fact that is independent of other non-key columns and depends only on the key.

Fourth normal form

A table is in fourth normal form if no row contains two or more independent multi-valued facts about an entity.

DENORMALIZATION

Normalize your tables to avoid redundancy




[DB2]
Denormalize tables to improve performance

The premise of the normalization rules is that the information can be retrieved by SQL statements that join the two tables. The problem is that a join operation can be time consuming, even for only two tables. As the number of tables increases, the access costs can increase enormously, depending on the size of the tables, the available indexes, and so on.

INDEXES

Using unique indexes

DB2 allows you to enter duplicate values in a key column. If you do not want duplicate values, use CREATE UNIQUE INDEX. For example, the sample application does not allow duplicate department IDs in the department table. Creating a unique index, as in the following example, prevents duplicate values.

CREATE UNIQUE INDEX XDEPT1

ON DSN8610.DEPT (DEPTNO);

The index name is XDEPT1, and the indexed column is DEPTNO.

Using composite keys

You can create an index with a composite key, containing multiple columns. The index entries can be in sequence by the ascending values or descending values of the columns. The keywords ASC and DESC of the CREATE INDEX statement indicate ascending and descending order. ASC is the default. The following example creates a unique index with a composite key on three columns: PROJNO, ACTNO, and ACSTDATE:

CREATE UNIQUE INDEX DSN8610.XPROJAC1

ON DSN8610.PROJACT

(PROJNO ASC,

ACTNO ASC,

ACSTDATE DESC)

Clustering indexes

To specify a clustering index, use the CLUSTER clause in the CREATE INDEX statement. When a table has a clustering index, an INSERT statement inserts records as nearly as possible in the order of their index values. These clustered inserts can provide a significant performance advantage in some operations, particularly those that involve many records, such as grouping, ordering, and comparisons other than equal. Although a table can have several indexes, only one can be a clustering index.
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If you first create a non-clustering index, DB2 organizes the data by that index. If you later create a clustering index, DB2 identifies it as the clustering index but does not rearrange the data that is already in the table.  The data is still organized by the original non-clustering index you created for the table. However, when the table space is reorganized by the REORG utility, DB2 clusters the data in accordance with the new clustering index.  Therefore, if you know you want a clustering index, define the clustering index before you load the table. If that is not possible, define the index and then reorganize the table.

If you partition the table space, the clustering index is a partitioning index.

CONCURRENCY/LOCKS/LATCHES/ISOLATION

Definition: Concurrency is the ability of more than one application process to access the same data at essentially the same time.

Example: An application for order entry is used by many transactions simultaneously. Each transaction makes inserts in tables of invoices and invoice items, reads a table of data about customers, and reads and updates data about items on hand. Two operations on the same data, by two simultaneous transactions, might be separated only by microseconds. To the users, the operations appear concurrent.

Conceptual background: Concurrency must be controlled to prevent lost updates and such possibly undesirable effects as unrepeatable reads and access to uncommitted data.

What do locks do? A lock associates a DB2 resource with an application process in a way that affects how other processes can access the same resource. The process associated with the resource is said to "hold" or "own" the lock. DB2 uses locks to ensure that no process accesses data that has been changed, but not yet committed, by another process.

Latches are conceptually similar to locks in that they control serialization. They can improve concurrency because they are usually held for shorter duration than locks and they cannot "deadlatch." However, page latches can wait, and this wait time is reported in accounting trace class 3. Because latches are not under your control, they are not described in any detail.

Bind with ISOLATION(CS) and CURRENTDATA(NO) typically: ISOLATION(CS) lets DB2 release acquired locks as soon as possible.  CURRENTDATA(NO) lets DB2 avoid acquiring locks as often as possible. After that, in order of decreasing preference for concurrency, use these bind options:

1.  ISOLATION(CS) with CURRENTDATA(YES), when data returned to the     application must not be changed before your next FETCH operation.

[DB2]
2.  ISOLATION(RS), when data returned to the application must not be changed before your application commits or rolls back. However, you do not care if other application processes insert additional rows.

3.  ISOLATION(RR), when data evaluated as the result of a query must not be changed before your application commits or rolls back. New rows cannot be inserted into the answer set.

Use ISOLATION(UR) cautiously: UR isolation acquires almost no locks. It is fast and causes little contention, but it reads uncommitted data. Do not use it unless you are sure that your applications and end users can accept the logical inconsistencies that can occur.

Bind package/Plan
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Pre-compiler

· Expand DB2 related INCLUDES

· Search SQL statements in the program

· Replaces original SQLs with host language calls

· Places SQLs in DBRMs

BIND




· Reads SQL statements from DBRMs and produce a mechanism to access data as directed by the SQL statements being bound.

· BIND PLAN accepts I/P one or more DBRMS, one or more packages or combination of DBRMs and Packages.

· O/P of bind plan is application plan, contains executable logic representing optimized access path to DB2, this plan is executable only with corresponding load module.

· Bind package accepts as an I/P DBRM and produces single package, then you bind package into an application plan.

· Package is not executable.

· Package bind reduces bind time

· REBIND PLAN rechecking syntax, reestablishing access path, redoing bind, but it doesn't enable to add a DBRM.

· If rebind parameters are not specified takes the bind parameters as the default.

· BIND REPLACE replaces all the DBRMs in the plan, used for use a different DBRM

CURSORS











· When the commit is issued in the program opened cursors are closed unless with hold option specified, you can save the cursor position using with hold option.

· Cursor for data modification, e.g.

DECLARE CSR-1 CURSOR FOR

SELECT DPT-NO, DPT-NAME, MGR-NO

FROM DPT-TABLE
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WHERE DPT-NAME = :ADMN-DPT

FOR UPDATE OF MGR-NO

OPEN CSR-1

FETCH CSR-1 INTO

:DPT-NO, DPT-NAME, MGR-NO

IF SQLCODE-OK

EXEC SQL

UPDATE DPT-TABLE

SET MGR-NO = '99999'

WHERE CURRENT OF CSR-1

END-EXEC

ALIAS AND SYNONYM
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· Alias used by the users other than creators

· Synonyms can be accessed by only their creators

· Table dropped, Synonyms are dropped, but aliases retained

· Aliases used to give a shorter name for remote tables

INDEX/ALTERNATIVE INDEX/CLUSTERING INDEX

· Index composed of primary key of the record, and an address pointer, which will tell you where the record/row is stored in the table space.

· An alternate Index consists of primary key of the record along with secondary key with control information.

· A.I may not be unique, maximum of 253 A.I is allowed

· A.I and Primary Index can't start from the same location but can overlap.

· Clustering index indicates, how the table rows are grouped together in the table spaces.

· C.I reduces I/O, DB2 optimizer tries to use an index on a clustered column

· C.I accessed most often.
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4. VSAM                                                                          [home]
· Faster access to data, and data sets are organized.

· Deletion physically removes records, more free spaces.

· Records can be accessed sequentially/random.

· Need more space because of control information.

KSDS

· Data records are organized by unique key field

· Accessed sequentially (RBA)/Random(Index)

· Can include an A.I in addition to primary Index

· A.I need not be unique

· Records inserted ascending order of primary key

ESDS

· Organized in the order they are inserted

· Accessed randomly/sequentially

· Don’t have primary key index

· Can have an A.I

· Records added at the end of data set

RRDS

· Records accessed by position relative to first slots.

· Relative position of each record called RRN

· Accessed randomly/sequentially

5. CICS                                                                              [home]
6. IMS   
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7. MISCELLANEOUS  
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[6Sigma] [CMM] [PCMM] [Middleware] [ChangeMan] [Multi-tier]
What is Six Sigma?

Six Sigma is a rigorous and disciplined methodology that uses data and statistical analysis to measure and improve a company's operational performance by identifying and eliminating "defects" in manufacturing and service-related processes. Commonly defined as 3.4 defects per million opportunities, Six Sigma can be defined and understood at three distinct levels: metric, methodology and philosophy.

Six Sigma has evolved over time. It's more than just a quality system like TQM or ISO. It's a way of doing business. As Geoff Tennant describes in his book Six Sigma: SPC and TQM in Manufacturing and Services: "Six Sigma is many things, and it would perhaps be easier to list all the things that Six Sigma quality is not. Six Sigma can be seen as: a vision; a philosophy; a symbol; a metric; a goal; a methodology.

History of Six Sigma

The roots of Six Sigma as a measurement standard can be traced back to Carl Frederick Gauss (1777-1855) who introduced the concept of the normal curve. Six Sigma as a measurement standard in product variation can be traced back to the 1920's when Walter Shewhart showed that three sigma from the mean is the point where a process requires correction. Many measurement standards (Zero Defects, etc.) later came on the scene but credit for coining the term "Six Sigma" goes to a Motorola engineer named Bill Smith. 

Since then, hundreds of companies around the world have adopted Six Sigma as a way of doing business. General Electric being notable among many.

Essence of Six Sigma

The three fundamental themes of Six sigma are as follows

1.  Customer Focus

Ensuring all outputs meet customer specifications. This is very intuitive for manufacturing and industrial businesses; potentially a new concept for transactional businesses. Customer needs must be understood down to the tolerance level. In addition, new products and services should be conceived to meet the needs of customers not currently serviced.

2.  Data Driven

Data is necessary to identify input, process and output areas for improvement. Quality improvements are not haphazardly implemented. Instead, resources are assigned to projects when it can be shown through data analysis that a difference will be felt by the customer

3.  Robust Methodology

Data alone cannot solve all your customer or business issues. A methodology for defect definition, measurement, analysis, improvement and control must be utilized to standardize improvement processes and maximize business productivity. Business processes should be structured around the customer's ideal experience

DMAIC – Define, Measure, Analyze, Improve and Control phases are practiced as part of the methodology

·  Define: Describe the project and take the measure of its scope. 

·  Measure: While the output variables (for example, costs resulting from incorrect pricing) are known, the input variables (for example, manual versus automated pricing) are typically unknown. The only information about the potential input comes from organizational wisdom-that is, people's beliefs based on past experience and technical information. 

·  Analyze: The project team studies existing information to determine whether there's a relationship between the output and the potential input identified during the measure phase. 

·  Improve: The project team conducts experiments to establish a cause-and-effect relationship between potential input--data that seemed promising during the analyze phase--and the output. 

·  Control: The project has come full-circle. At this point, if the process owners control the input they have identified, they will be much more likely to get the desired results for the output. 

Why Six Sigma ?

We all dream of perfection of coming up with a flawless business plan and the optimal processes for executing it. But being perfect in these areas is a hard thing to define, let alone quantify. How precisely can you really measure success? Can IT play a role? 

Many companies are finding the answer by borrowing the practices from the manufacturing sector and its Six Sigma approach to quality. The decades-old manufacturing theory is getting new life as it's applied to business-process strategies. In this metric-conscious economy, many managers like the fact that Six Sigma is a highly disciplined, project-based methodology that can help companies focus on developing and delivering near-perfect products and services. Six Sigma concepts are proactive tactics based on the idea that rather than wasting time and money fixing products that come out wrong, and dealing with the customer-service fallout and refunds that result, companies should work toward achieving "zero defects"--or as close as possible to that mark--in the first place. Few would dispute that goal.

In statistics, Sigma indicates how far a process has deviated from perfection. In the manufacturing world, a process must produce no more than 3.4 defects per million opportunities to achieve Six Sigma quality. The idea of Six Sigma--practiced at General Electric since 1985--is to measure the number of defects in a process, and then figure out ways to eliminate those defects.

Now, Six Sigma methods are being applied to any type of organization that wishes to improve its business--and it's catching on with companies far beyond early manufacturing champions such as GE and Motorola. Six Sigma is now used by call centers, hospitals , even juvenile-detention halls to improve some aspect of their operations. GE, DuPont, International Paper, and Raytheon use Six Sigma methods to improve cash generation by reducing costs within their legal groups.  
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[6Sigma] [CMM] [PCMM] [Middleware] [ChangeMan] [Multi-tier]
SEI Capability Maturity Model


In 1991 the Software Engineering Institute (SEI) at Carnegie Mellon University introduced the Capability Maturity Model for Software (CMM). This event marked a major milestone in the evolution of software process management because, for the first time, the software community had a comprehensive description of how software    organizations "mature" or improve, in their ability to develop software. 
The CMM defines five levels of process capability, each of which represents an evolutionary plateau towards a disciplined, measured, and continuously improving software process.

 The Initial Level


At the Initial level (Level 1) few, if any, organized processes exist. Each developer utilizes whatever methods or techniques strike his or her fancy. The situation is sometimes described as chaotic and ad hoc. Software quality is more a matter of chance, and is highly dependent on the capabilities of specific individuals within the organization. 

The Repeatable Level

To reach Level 2, a software development organization must put into place basic project management practices. This includes the capability to estimate the size of the software to be produced, estimate resources to execute the project, and track progress against these estimates. Also included is the implementation of software configuration management and quality assurance practices, the capability to effectively manage the requirements definition process, and the capability to manage subcontractors (if applicable). This level is referred to as the Repeatable level; the organization has mastered tasks previously learned. The organization is still highly dependent on individuals for the success of a project. In times of stress, the organization tends to revert back to behaving as a Level 1 organization. 

The Defined Level

Level 3 is characterized as the Defined level. At this level, the organization has defined and established the software development and maintenance practices specific to the types of applications they produce. They have put into place a set of standards and procedures to codify these practices, and the organization follows them consistently. Training in these practices is provided. Peer reviews are performed as in-process evaluations of product quality. Integrated project management exists. The organization is no longer highly dependent on key individuals; the process belongs to the organization, not to individuals. At times of stress, the Level 3 practices are not abandoned. 


The Managed Level


At Level 3 and below, the primary focus is on product quality. At Level 4 and above, the primary focus shifts to process quality (although some amount of attention is paid to process quality below Level 4). To reach Level 4, the Managed level, the organization focuses on establishing a set of process measures and uses them to initiate corrective actions. Once these measures have been established, the organization is ready to begin to use them to implement continuous process improvement.

 

The Optimizing Level


At Level 5, the Optimizing level, these measures are not only being used to improve existing processes, but also to evaluate candidate new processes. They are also being used as the basis for determining the efficacy of introducing new technologies into the organization. 

Using the CMM


How can the CMM help your organization? There are three key roles the CMM plays. First, the CMM helps build an understanding of software process by describing the practices that contribute to a level of process maturity. 


The second role of the CMM is to provide a consistent basis for conducting appraisals of software processes. The CMM defines a scale for measuring process maturity, thus allowing an organization to accurately compare its process capability to that of another organization. ISO is using the CMM in its efforts to develop international standards for software process assessments. 


The CMM's third key role is to serve as a blueprint for software process improvement. The CMM can help an organization focus on the areas it must address in order to advance to the next level of maturity. Today, leading software organizations are adopting the CMM as their core strategy for improving quality and productivity.
                                    [home] 
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People CMM

Some argue the CMM focuses too heavily on process or technology, not people. Furthermore, those organizations deemed mature indicated that their progression to this state required significant changes in managing people, and their continuing improvement in their organizational capability required them to address issues regarding their people assets and human resources management. In response to this growing concern the SEI is developing a People Capability Maturity Model (P-CMM). The P-CMM, whose structure is provided in Figure 1, is an adaptation of CMM concepts focused on developing the organization's human capabilities, especially the talent in software and information systems development. The motivation for the P-CMM is to radically improve the ability of software organizations to attract, develop, motivate, organize, and retain the talent needed to steadily improve software development capability. 

The strategic objectives pursued in the P-CMM are to: 

· improve the capability of software organizations by increasing the capability of their staff, 

· ensure that software development capability is an attribute of the organization rather than of a few individuals, 

· align the motivation of the staff with those of the organization, and 

· retain assets (i.e., people with extensive skills and capabilities) within the organization. 

The P-CMM includes practices in the areas of: 

· staffing (includes recruiting, selection and planning) 

· managing performance 

· training 

· compensation 

· work environment 

· career development 

· organizational and individual competence 

· mentoring and coaching 

· team and culture development 
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MIDDLEWARES

Example : MQSeries
Need For Middleware Components:


Improvements in hardware and networking technologies over the past two decades have yielded dramatic increases in computer and communication capabilities. Despite these advances, however, the effort and cost required to develop, validate, port, and enhance software for networked applications remains remarkably high. Much of the complexity and cost of building networked applications can be alleviated by the use of highly flexible, efficient, dependable, and secure middleware, which is systems software that resides between the applications and the underlying operating systems and networks, and provides reusable services that can be composed, configured, and deployed to create networked applications rapidly and robustly. 

What Does Middleware Mean?


Middleware represents the confluence of two key areas of information technology (IT): distributed systems and component-based design and programming. Techniques for developing distributed systems focus on integrating many computing devices to act as a coordinated computational resource. Likewise, techniques for developing component-based systems focus on reducing software complexity by capturing successful patterns and creating reusable component frameworks. Middleware is therefore the field dealing with component-based systems that can be distributed effectively over a myriad of computing devices and communication networks to provide developers of networked applications with the necessary platforms and tools to: 

·  Formalize and coordinate how parts of applications are composed and how they interoperate 

·  Monitor, enable, and validate the (re) configuration of resources to ensure appropriate application end-to-end quality of service (QoS), even in the face of failures or attacks 

Middleware generally supports two models for component interaction: 

·  A request-response communication model, in which a component invokes a point-to-point operation on another component 

·  An event-based communication model, in which a component transmits arbitrarily defined messages, called events, to other components


Event-based middleware is becoming popular for large-scale heterogeneous distributed systems because it helps reduce software dependencies, and enhance system composability and evolution.

· Middleware’s in the Past:
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During the past decade IT developers and end users have benefited from the commoditization of commercial off-the-shelf (COTS) hardware (e.g., CPUs and storage devices) and networking elements (e.g., IP routers). More recently, the maturation of programming languages (e.g., Java and C++), operating environments (e.g., POSIX and Java Virtual Machines), and middleware (e.g., CORBA, Java 2 Enterprise Edition, and SOAP/Web services) are helping to commoditize many COTS software components and architectural layers. Although the quality of COTS commodity software has often lagged behind hardware, recent improvements in software frameworks, component models, patterns, and development processes have encapsulated the knowledge that enables COTS middleware to be developed, integrated, and used successfully with fixed networks in an increasing number of real-world networked application domains, including telecom/datacom, enterprise e-commerce systems, desktop business applications, aerospace and defense systems, industrial process control, and financial services.

Middleware’s for the Future:


COTS middleware platforms have generally expected static connectivity, reliable communication channels, and relatively high bandwidth. Significant challenges remain, however, to design, optimize, and apply middleware for more flexible network environments, such as self-organizing peer-to-peer (P2P) networks, mobile settings, and highly resource-constrained sensor networks. For example, hiding network topologies and other deployment details from networked applications becomes harder (and often undesirable) in wireless sensor networks since applications and middleware often need to adapt according to changes in location, connectivity, bandwidth, and battery power. 


Concerted R&D efforts are therefore essential to devise new middleware solutions and capabilities that can fulfill the requirements of these emerging network technologies and next-generation applications.

For instance, the emergence of programmable sensor networks has yielded a new class of applications (e.g., equipment and process control, environmental monitoring, emergency management, sniper localization, active vibration damping, and smart structures) in which a wide range of coordinated devices and services can be assembled flexibly and rapidly to achieve critical missions. Today's sensor network applications are developed manually in an ad hoc and informal manner, however, which is costly, tedious, and error-prone, and often fails to achieve the desired functionality and quality under tight resource and reliability constraints


There has also been substantial growth recently in the development and use of P2P systems, in which all nodes have similar responsibilities and communication is symmetric. Successful P2P applications include content sharing   and large-scale storage systems. Peer-to-peer computing offers several advantages over earlier networked application architectures, including self-organization, availability, automatic load balancing, and scalability. Part of the success of these systems comes from their ability to harness idle storage and network resources, often offered by computers volunteered by their owners to participate in the system.
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MQSeries
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What is MQSeries ?

MQSeries is a middleware product from IBM that runs on multiple platforms and enables applications to send messages to  other applications.  Basically, the sending  application PUTs a message on a Queue, and the receiving application GETs the message from the Queue. The sending and receiving applications do not have to be on the same platform, and do not have to be executing at the same time.

MQSeries takes care of all the storage, logging and communications details required to guarantee delivery of the message to the destination queue. In most cases, it will take care of translating the data when the source and destination use different character sets. All the applications have to do is know the name of the Queue and agree on the meaning of the message.

Why do we need  it ?

Time independent communication

No dedicated, logical network connection

Heterogeneous, any-to-any connectivity

Guaranteed, one-time delivery

Communication can be one-way or two-way

No Communication code in MQ programs

What is Distributed queue management ?

Distributed queue management (DQM) extends MQ series facilities to allow applications to put messages on queues that are located away from the local system. This means to queues that are located on any system that runs  an MQ series product, including MVS/ESA, VSE/ESA,OS/2 (including DOS and Microsoft Windows). OS/400, AIX/6000, System/88, Stratus, Digital VMS and Tandem Guardian.

How does it work ?

The address of a destination queue is established when the application opens a queue for putting messages , and this address is canceled by the application closing the queue.Between these two calls, all application messages put to a destination queue are placed unchanged on the queue.Each Message has a message descriptior attached to it which contains extra information such as : correlation identifier, security information,context information, reply-to queue, date,time: but no addressing information.

The receiving application that gets messages from the destination queue uses the message descriptors to selectively get the messages from the queue and to check that each message is properly authorized.

There are 4 different types of application messages

Datagram: Used whenever the sending application doesn’t require a reply. 

Request: Used to identify the message type as one  requesting  information from another application.

Reply: Used to identify the message as a  Reply  to a previous  Request  message.

Report: Used to inform applications that an Event   has occurred. These types of messages are usually created by the queue manager and are used to inform system applications that an  event  has occurred.
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CHANGE MAN
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You would have heard about many Change management / Version management software like Clearcase, PVCS, Visual source safe, Endeavour. In this article we will know about Changeman which is widely used in mainframe systems. 

Change Man is a comprehensive system designed to provide reliable and streamlined implementation of software changes on the MVS system. It is a system that manages and automates the process of migrating software changes, or applications, from a development environment to any test environment and to the production environment. A comprehensive TSO/ISPF interface guides you through various change management processes.

CHANGE PACKAGES

Within Change Man, a Change Package is the vehicle in which all changes are moved from a development environment to a production environment. A change package may contain one or more components (source, copybook, load, JCL, control cards, compiling procedures, documentation, and other components) which are required to implement software change.

THE CHANGE MAN LIFE CYCLE
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A step-by-step description of migrating a change from development to production within 

Change Man is detailed below

1 Create a Change package. A Change package contains the elements to be edited and installed into production, and is identified by an unique package identification generated by Change Man. When you create a package, you provide the information that Change Man needs to track and control the package.

2 Checkout components from baseline. The checkout process allows you copy components from your baseline libraries to a Change Man staging library or to a personal development library where you can make changes. 

3 Editing changes. You may edit changes in the Change Man staging or in the development libraries.

4 Staging components. For source components, staging will run the appropriate translation procedures to create associated load modules. Components such as documentation or copy members are copied into the staging libraries, if they are not there already. 

5 Audit process. The audit process ensures that no unexpected problems will occur.

6 Freeze process. The freeze process locks the package and makes the package available for the promotion and approval processes.

7 Promotion process (optional). Promotion allows a package to be moved through various levels of testing. For example, promote from system testing to acceptance testing.

8 Installation. After all of the approvals have been gathered by Change Man, the package is ready to be installed. If the manual installation method was selected when the package was created, the package will be installed immediately after the final approver has approved the package. If the Change Man’s internal scheduler method was selected, Change Man will

automatically install  the package on the date and time specified at package creation. If an external scheduler is used, Change Man will convey the install information to that scheduler so that it can install the package.

9 Baseline ripple. After installing the package, Change Man will baseline ripple the package. Baseline ripple is the process that Change Man executes to version all package components.
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Multi-tier Architecture

Programmer's code is composed of three general parts :

UI code : code for the user interface i.e., displaying buttons and lists of data

Database code : code that talks to a database system to fetch or store data

Business logic : code that processes the fetched data according to commands from the UI

There are two basic architectures in which the database and programmer code are arranged :

client/server (or 2-tier)

multi-tier (or 3-tier or n-tier)

Client/Server looks like this : 

There are multiple "client" machines on which the programmer's code sits. The program talks, via a network, to a database which sits on a "server" machine. 
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Multi-tier looks like this. 
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The client program has only UI code. The UI code talks, via a network, to the "middle tier" on which the business and database logic sits. In turn the middle tier talks, via a network, to the database. In practice the middle tier can be placed, if necessary, on the same machine as the database. 

In either architecture the data "traffic" is highest between database logic and database server (illustrated by a thicker arrow). This means that the network infrastructure that connects the database logic with the database server needs to be very high bandwidth; i.e. expensive. With a traditional client/server architecture it is easy to create a scenario where no existing network technology would be enough to cope. 

The advantages of a multi-tier architecture are : 
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Forced separation of UI and business logic

Low bandwidth network

Business logic sits on a small number (maybe just one) of centralized machines

Enforced separation of UI and business logic :

Normally, because most programmers are ill disciplined, UI, business and database logic are all muddled together; no attempt is made to cleanly separate them. The result is an inflexible program that can be very expensive to maintain. The multi-tier architecture physically forces the separation of the deadly combination of UI and business logic. One might suppose that addressing programmer discipline would be better, however it is more difficult to find the means to do this (OO gurus, for example) than to force seperation. As an aside :by using an Object-Oriented database (like gemstone or Objectstore) as the database server, rather than a relational database (like Oracle or MS SQL server) one can entirely remove the database logic which increases code malleability and cuts code size by 30-40%. 

Low bandwidth network : 

Since data traffic between UI and business logic is generally fairly low a high bandwidth network is not needed to connect clients with the middle tier. Data traffic is high between middle tier and database, but they are also physically close often sitting next to each other, thereby radically reducing the cost of the expensive high-bandwidth networking that is usually required to connect them for their high traffic needs. Where client/server architectures will grind to a halt due to excessive network traffic a multi-tier architecture will do just fine. In other words multi-tier architectures tend to scale better, with increasing demand, than their client/server predecessors. 

Business logic sits on one machine only : 

This has a very practical implication : instead of updating 10, hundreds or thousands (possibly even millions) of client machines for every change to the business logic only the middle tier server(s) need updating. This is important because software "roll-outs" - as software installation is sometimes termed - is a very problem prone process; it's usually a major operation. Simply installing can be time-consuming (involving big and awkward database drivers for the database logic, i.e. Oracle drivers come to about 80megs). Worse still usually only 98 percent of client installs will be OK, the remaining 2% will seem to fail for no apparent reason. Solving the failures is almost always necessary and can be very time consuming and expensive. Visual Basic programs are particularly prone to this problem due to dll versioning issues (search for "dll hell" at Msdn). Any System Administrator can tell you that software installs are the bane of their life. Multi-tier architectures involve far fewer roll-outs and those roll-outs are usually "light-weight", i.e. no database driver installs (in a multi-tier architecture the database drivers will sit on the middle tier server where the database logic can be found). 

A final word : 

Middle-tiers servers use a technology termed "middleware", and also called "Application Servers". Middleware comes in varying forms. The two most common are Java Application Servers (or App servers) and windows NT (which is both an operating system and an application server). Java application servers are constructed according to Sun Microsystem's J2EE standard (enterprise javabeans - EJBs) using RMI (remote method invocation) as the infrastructure (usually with Corba as the backbone of the RMI implementation). Windows NT uses DCOM (Distributed Component Object Model) as both standard and infrastructure. They are competitors. The main difference is that the EJB offering tends to be considered more scalable and cleaner; for example transactioning is done declaratively with no start and end transaction code in the business logic. App servers can do quite a number of intersting things, like automatically exposing business objects as both RMI objects (for other java programs) and Corba objects (for everyone else). EJB is also considered not quite ready yet. The two main app servers are Bea's WebLogic and IBM's Websphere. Websphere has a bad reputation which will hopefully improveas IBM's product matures. 
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JCL

Question: Can you execute a PROC from another PROC?

Answer: Nesting is allowed. I think upto 15 levels. Please check out.

Question: What is a DD statement? Answer: Data Definition

Question: Can you execute a PROC from another PROC?

Answer: Yes, Manuals do not state any limit on PROC calling PROC, or nesting.

Question: What will happen if you attempt to restart a job in the middle of a JCL // IF .... // ENDIF?

Answer: Job will fall through to the ENDIF (not executing any steps), then resume execution with the first step AFTER the // ENDIF.

Question: What Is A File?

Answer: A File Is A Collective Group Of Records. The Number Of Records On A File Depends Entirely On The Application Associated With The File. Files May Contain A Few Records, Thousands, Or Even Millions Of Records.

Question: How Many Positional Parameters Are There In Job statement?

Answer: There Are Two Position Parameters In Job Statement.

Question: What are three parameters you can specify on Job statement as well as on exec stmt ?

Answer: Time , Region and Cond parameters

Question: How can you trap abends in the JCL?

Answer: Use IF ABEND statement in the JCL.

Question: How do you restart a step in JCL?

Answer: Use RESTART=step name.

Question: How do you pass parameters to the program as the job is being executed ?

Answer: By using 'parm' parameter in exec statement. the value mentioned here should be declared in linkage section in the program and process thru procedure division. This technique is very useful when you do not know the parameters at the time of coding the programs.

Question: Why do you use a control card?

Answer: A control card can be a member of a pds or a sequential dataset and is used for storing the date fields, Definitions of VSAM files....etc. You use control card because you cannot use a Instream procedure in a procedure. Generally you will be calling a Proc from your Jcl and you cannot code Instream procedure in the Proc and so you will point to the dataset which is called control card.

Question: How do you submit JCL via a Cobol program? For the above question the solution is as follows..

Answer: In your JCL define as//JOBA JOB 1111,JOB1//STEP01 EXEC PGM=PROG1//ddname DD SYSOUT=(*,INTRDR)....and your COBOL(PROG1) should look like this SELECT JCL-FILE ASSIGN TO DDname. Open this file and write the JCL statements into this file. Example. MOVE '//TESTJOB JOB 1111,VISVEISH' TO JCL-REC.MOVE '//STEP01 EXEC PGM=IEFBR14' TO JCL-REC. and close this file. Then TESTJOB will be submitted.

Question: How do you submit a JCL under CICS environment ?

Answer: Pass all the jcl codes to a COBOL variable(should be declare using OCCURS clas) and the write the line one by one to the spool using CICS commands like SPOOLClose SPOOLOpen SPOOLWrite . 

Question: What is the parameter to be passed in the job card for the unlimited time , irrespective of the job class

Answer: TIME=1440

Question: Definition of COND parm in JCL ?

Answer: COND is a condition parameter, consists of 2 subparameters, 1st - return code from the previous step, 2nd - condition. If COND is true, the step on which COND is coded will be BYPASSED.

Question: Q) What Is Meant By S07c And S0c30 System Abend Codes ?

Answer: A) S0C7 - Data exception error - you will get it whenever you are trying to move the low values or spaces into the numeric field, or compare the numeric fields with low values, or try to do some arithmetic operations on the low values. To avoid this you have to always initialize the numeric fields otherwise they will contain the low values.S0C 30 - I have never heard of it, let you know if I come accross it.

Question: How to pass the temp dataset form one JOB step to another?

Answer: By specifying the DISP as PASS for the temp dataset

Question: What is a COND parameter in JCL?

Answer: COND means condition parameter. It is compared with system return code of previous step.//step1 exec pgm=abcd//step2 exec pgm=xyz, cond=(4,lt)step2 will be executed when system return code of step1 is less than 4.

Question: WRITE A JCL TO EXECUTE A JOB BY 7 A.M ON JAN 20,1986 ?

Answer: THE code IS : //*MAIN DEADLINE=(0700,B,012086)

Question: How Many Types Of Libraries Are There In Jcl ?

Answer: Libraries Are Of Three Types.1.Sytem Libraries: Such As Sys1.Linklib2.Private Libraries: Specified In A Joblib Or Steplib DD Statements.3.Temporary Libraries: Created In A Previous Step Of The Job.

Question: What U Mean By Include Statement In Jcl ?

Answer: An Include Statement Identifies A Member Pf A PDS Or PDSE That Contains. This Set Of Jcl Statements Is Called An Include Group. The System Replaces The Include Statement With The Statements In The Include Group.

Question: The Maximum Number Of In-Stream Procedure You Can Code In Any Jcl Is ?

Answer: 15.

Question: What you mean by skeleton JCL?

Answer: Jcl which changes during run time ie the values for the Jcl such as pgm name ,dd name will change .ie same jcl can be used for various job, equivalent to dynamic sql...

Question: How do you submit a JCL under CICS environment ?

Answer: Edit the JCL in Extra partition TDQ and submit the same using some system command (not sure) under CICS subsystem. This is what I think, please clarify....

Question: what is jcl

Answer: it is interface between operating system(mvs) & application program. when 2 related programs are combined together on control statements is called job control language

Question: What is the max blocksize for a Tape file?

Answer: It is 32,760.Based on that we can calculate efficient number of Records in a Block

Question: What are the basic JCL Statements for a Job?

Answer: 1.JOB : Idenfies a job and supplies accounting info 2.EXEC : Identifies a job step by indicating the name of the program to be executed. 3.DD : Identifies a data set to be allocated for the job step 4.Delimiter (/*): Marks the end of an in-stream dataset 5.Null(//):Marks the end of a job 6.Comments(//*): Provides Comments 7.PROC : Marks the beginning of a procedure 8.PEND : Marks the end of a procedure 9.OUTPUT: Supplies options for SYSOUT processing.

Question: What does the statements: typrun=scan and typrun=hold doing a JCL statement Answer: typrun=scan checks the JCL for errors, typrun=hold holds the job until further notice.

Question: Which of the following is Online transaction? CICS, DB2 and Jcl

Answer: CICS

Question: which is the most widely used batch performance monitor for DB2?

Answer: DB2PM

Question: What is QSAM error usually when it is occurs?

Answer: Usually it is occurs at the time of job submission.

Question: what is the purpose of include statement in a jcl?

Answer: It is used as an alternative for steplib.When we specify the dataset name in include ,it will search in all the datasets specified in the include dataset.

Question: Is It Possible To Know The Remaining Free Space In An Control Interval/Control Area Once An Insertion Has Been Made.

Answer: Not Possible

Question: what does soc04 error mean?

Answer: this error is faced when we execute the Cobol program.the main reason for this error is that a variable is defined with less characters and we are trying to move data which is larger than the actual storage space.

Question: In which table PLAN is registered in ?

Answer: RCT

Question: what do you mean By spooling? Expand SPOOL?

Answer: This is managed by JES.This is used for Queuing the Outputs that are intended for Printing and are first stored in SPOOLDASD. This can be managed Using

Question: How many Instream-Procedures(procs) can be Coded in a single Job?

Answer: The Answer is: 15

Question: The Maximum Number Of Steps In A Job?

Answer: 255

Question: How much is memory space involved, when we code BLOCKSIZE,TRK & CYL

Answer: One block constitutes 32KB of formatted memory/ 42KB of Unformatted memory,6 blocks makes one Track & 15 Tracks makes one cylinder.

Question: What is DSNDB06 ?

Answer: This is the Place where DB2 Catalog resides

Question: What is the use of DSNDB07 ?

Answer: This is the area where sorting takes place in DB2

Question: What is the purpose of Identification Division?

Answer: Documentation.

Question: What Is Datacom DB?

Answer: It Is A Database Used With VSE.

Question: What is a Dummy Utility and what it does ?

Answer: IEFBR14 is a Dummy utility and it is used for the sake of EXEC PGM= .... statement in JCL[when used it wouldn't perform any task]. e.g. While Allocating a dataset you don't have to run any utility [this could be done by giving disp=new inDD statement]. But for a PGM name must be given in EXEC statement, it is used.

Question: What 3 guidelines do we have to follow when concatenating DD statements? Answer: 1. Datasets must be of the same type (disk or tape)2. All datasets must have the same logical record length 3 The dataset with the largest blocksize must be listed first.

Question: On the DD statement, what is the main difference between creating a new sequential flat file and a partitioned dataset?

Answer: SPACE=(n,m) for a sequential file, SPACE=(n,m,p) for a PDS where n, m, and p are numbers. The p designates how many directory blocks to allocate.

Question: What is the difference between IEBGENER, IEBCOPY and REPRO in IDCAMS utility?

Answer: IEBGENER -- This is a dataset utility for copying sequential datasets which produces a PDS or a member from a sequential dataset. IEBCOPY -- This is a dataset utility for copying one PDS to another or to merge PDSs. REPRO -- This is for copying sequential datasets. More or less same as the IEBGENER.

Question: How to execute a set of JCL statements from a COBOL program

Answer: Using EXEC CICS SPOOL WRITE(var-name) END-EXEC command.var-name is a COBOL host structure containing JCL statements.

Question: What is the difference between static call & Dynamic call

Answer: In the case of Static call, the called program is a stand along program, it is an executable program . During run time we can call it in our called program. As about Dynamic call , the called program is not an executable program it can executed thru the called program

Question: What is the difference between catalogue procedure and In-Stream procedure? Answer: In Stream procedures are set of JCL statements written between JOB and EXEC statements, start with PROC and end with PEND statement. Mainly used to test cataloged procedures. Cataloged procedure is cataloged on the procedure library and is called by specifying the procedure name on the EXEC statement.

Question: What do you feel makes a good program?

Answer: a program that follows a top down approach. It is also one that other programmers or users can follow logically and is easy to read and understand.

Question: can we browse or edit the GDG dataset if it is a tape entry? Answer: No ,

Question: What are the maximum and minimum sizes of any CONTROL AREA (VSAM datasets) ?

Answer: Minimum Size : 1 trackMaximum size : 1 cylinder

Question: How To Get Cursor Position From System In CICS Environment ?

Answer: Get It From EIBCURPOS !

Question: How many parameters are there to a DISP statement and what are their uses. Answer: There are three(3) parameters. Parameter 1: current data set disposition(new, shr, old, mod) Parameter 2: normal close action for data set (catlg, keep, delete) Parameter 3:abend action for data set (catlg, keep, delete).

Question: What is the error code SOC01 indicate ?

Answer: Operation exception error For e.g. a dataset open error

Question: WHAT IS COMM?

Answer: COMM - HALF WORD BINARY

Question: What is a procedure?

Answer: A set of precoded JCL that can be modified through the use of parameters or override cards. Note: Procedures can be catalogued or instream.

Question: What is the difference between specifying DISP=OLD and DISP=SHR for a dataset?

Answer: OLD specifies exclusive use of a dataset, SHR allows multiple jobs to concurrently access the dataset Note: When updating a dataset, you would normally use OLD.

Question: What are the three basic types of statements in a jobstream?

Answer: JOB(one per jobstream)EXEC(one or more per job)DD(one or more per jobstep)

Question: What does SYSIN * indicate?

Answer: Instream data follows this card and is terminated when followed by a card containing // or /* in columns 1 and 2.

Question: What are three major types of JCL statements? What are their functions? Answer: JOB, EXEC, DD. JOB - indicates start of jobstream to the operating system and through parms coded on it, certain details about the job (time, region, message level, job accounting data). EXEC - indicates the start of execution of a particular job step, be that step a program or a proc.DD - is a data definition, which is used to describe the attributes of a data set (name, unit, type, space, disposition).
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Question: What is the difference between Structured Cobol Programming and Object Oriented COBOL programming ?

Answer: Structured programming is a Logical way of programming, you divide the functionalities into modules and code logically. OOP is a Natural way of programming, you identify the objects first, then write functions, procedures around the objects. Sorry, this may not be an adequate answer, but they are two different programming paradigms which is difficult to put in a sentence or two.

Question: what is difference between next sentence and continue

Answer: They appear to be similar, that is, the control goes to the next sentence in the paragraph. But, Next Sentence would take the control to the sentence after it finds a fullstop (.). Check out by writing the following code example, one if sentence followed by 3 display statements (sorry they appear one line here because of formatting restrictions) If 1 > 0 then next sentence end if display 'line 1' display 'line 2'. display 'line 3'. *** Note- there is a dot (.) only at the end of the last 2 statements, see the effect by replacing Next Sentence with Continue *** Hope this helps!

Question: I understand the possible causes for S0C1 & S0C4 abends, but what are they really?

Answer: A S0C1 occurs if the CPU attempts to execute binary code that isn't a valid machine instruction; e.g. if you attempt to execute data. A S0C4 is a memory protection violation. This occurs if a program attempts to access storage beyond the areas assigned to it.

Question: which type of sort do you know?

Answer: internal sort and external sort.

Question: What divisions, sections and paragraphs are mandatory for a COBOL program? Answer: IDENTIFICATION DIVISION and PROGRAM-ID paragraph are mandatory for a compilation error free COBOL program.

Question: Can JUSTIFIED be used for all the data types?

Answer: No, it can be used only with alphabetic and alphanumeric data types.

Question: what happens when we move a comp-3 field to an edited ( say z(9).zz-) ? Answer: the edititing characters r to be used with data items with usage clause as display which is the default.when u try displaying a data item with usage as computational it does not give the desired display format becoz the data item is stored as packed decimal. So if u want this particular data item to be edited u have to move it into a data item whose usage is display and then have that particular data item edited in the format desired.

Question: What are the causes for S0C1, S0C4, S0C5, S0C7, S0CB abends ?

Answer: S0C1 - May be due to 1.Missing or misspelled DD name 2.Read/Write to unopened dataset 3.Read to dataset opened output 4.Write to dataset opened input 5.Called subprogram not foundS0C4 may be due to 1.Missing Select statement(during compile) 2.Bad Subscript/index 3.Protection Exception 4.Missing parameters on called subprogram 5.Read/Write to unopened file 6.Move data from/to unopened fileS0C5 May be due to 1.Bad Subscript/index 2.Close an unopened dataset 3.Bad exit from a perform 4.Access to I/O area(FD) before readS0C7 may be due to 1.Numeric operation on non-numeric data 2.Un-initialize working-storage 3.Coding past the maximum allowed sub scriptS0CB may be due to 1.Division by Zero

Question: What will happen if you code GO BACK instead of STOP RUN in a stand alone COBOL program i.e. a program which is not calling any other program.

Answer: Both give the same results when a program is not calling any other program.  when go back is coded the program goes into infinite loop is not correct. Goback will give the control to the system even though it is a single program.

Question: What Is The Difference Between External And Global Variables?

Answer: Global Variables Are Accessible Only To The Batch Program Whereas External Variables Can Be Referenced From Any Batch Program Residing In The Same System Library.

Question: You Are Writing Report Program With 4 Levels Of Totals: City, State, Region And Country. The Codes Being Used Can Be The Same Over The Different Levels, Meaning A City Code Of 01 Can Be In Any Number Of States, And The Same Applies To State And Region Code Show Do You Do Your Checking For Breaks And How Do You Do Add To Each Level?

Answer: Always Compare On The Highest Level First, Because If You Have A Break At A Highest Level, Each Level Beneath It Must Also Break. Add To The Lowest Level For Each Record But Add To The Higher Level Only On A Break.

COBOL Question: What is difference between COBOL and VS COBOL II?.

Answer: In using COBOL on PC we have only flat files and the programs can access only limited storage, whereas in VS COBOL II on M/F the programs can access upto 16MB or 2GB depending on the addressing and can use VSAM files to make I/O operations faster.

Question: Why occurs can not be used in 01 level ?

Answer: because, Occurs clause is there to repeat fields with same format, not the records.

Question: What is report-item?

Answer: A report-item is a field to be printed that contains edit symbols

Question: What is PSB & ACB?

Answer: PSB : Program specification block. Inform about how a specific program is to be access one or more IMS DB. It consist of PCB(Prg Communication Block). Information to which segment in DB can be accessed, what the program is allowed to do with those segment and how the DB is to be accessed. ACB : Access Control Blocks are generated by IMS as an expansion of information contained in the PSB in order to speed up the access to the applicable DBD's.

Question: Question: What's a LDS(Linear Data Set) and what's it used for ?

Answer: LDS is a VSAM dataset in name only. It has unstructured 4k (4096 bytes) fixed size CIs which do not contain control fields and therefore from VSAM's standpoint they do not contain any logical records. There is no freespace, and no access from Cobol. Can be accessed by DB2 and IMS fast path datasets. LDS is essentially a table of data maintained on disk. The 'table entries' must be created via a user program and can only be logically accessed via a user program. When passed, the entire LDS must be mapped into storage, then data is accessed via base and displacement type processing.

Question: answer to anon question for difference between next and continue clause Answer: FOR ANON , Dear friend the difference between the next and continue verb is that in the continue verb it is used for a situation where there in no eof condition that is the records are to be accessed again and again in an file , whereas in the next verb the indexed file is accessed sequentially ,hence when index case is accessed sequentially read next record command is used, I hope that is satisfactory

Question: What is the Importance of GLOBAL clause According to new standards of COBOL

Answer: When any data name, file-name , Record-name, condition name or Index defined in an Including Program can be referenced by a directly or indirectly in an included program, Provided the said name has been declared to be a global name by GLOBAL Format of Global Clause is01 data-1 pic 9(5) IS GLOBAL.

Question: What is the Purpose of POINTER Phrase in STRING command

Answer: The Purpose of POINTER phrase is to specify the leftmost position within Receiving field where the first transferred character will be stored

Question: How do we get currentdate from system with century?

Answer: By using Intrinsic function, FUNCTION CURRENT-DATE

Question: what is the difference between search and search all in the table handling? Answer: search is a linear search and search all is a binary search.

Question: What is the maximum length of a field you can define using COMP-3? Answer: 10 Bytes (S9(18) COMP-3).

Question: What will happen if you code GO BACK instead of STOP RUN in a stand alone COBOL program i.e. a program which is not calling any other program.

Answer: The program will go in an infinite loop.

Question: Q. How Many Sections Are There In Data Division?

Answer: Six Sections 1.File Section 2.Working-Storage Section 3.Local-Storage Section 4.Screen Section 5.Report Section 6.Linkage Section

Question: How can I tell if a module is being called DYNAMICALLY or STATICALLY?

Answer: The ONLY way is to look at the output of the linkage editor (IEWL)or the load module itself. If the module is being called DYNAMICALLY then it will not exist in the main module, if it is being called STATICALLY then it will be seen in the load module. Calling a working storage variable, containing a program name, does not make a DYNAMIC call. This type of calling is known as IMPLICITE calling as the name of the module is implied by the contents of the working storage variable. Calling a program name literal (CALL

Question: What is the difference between a DYNAMIC and STATIC call in COBOL. Answer: To correct an earlier answer: All called modules cannot run standalone if they require program variables passed to them via the LINKAGE section. DYNAMICally called modules are those that are not bound with the calling program at link edit time (IEWL for IBM) and so are loaded from the program library (joblib or steplib) associated with the job. For DYNAMIC calling of a module the DYNAM compiler option must be chosen, else the linkage editor will not generate an executable as it will expect full address resolution of all called modules. A STATICally called module is one that is bound with the calling module at link edit, and therefore becomes part of the executable load module.

Question: What is the deference between PIC 9.99 and 9v99?

Answer: PIC 9.99is a FOUR-POSITION field that actually contains a decimal point where as PIC 9v99 is THREE-POSITION numeric field with implied or assumed decimal position.

Question: How is PIC 9.99 is deferent from PIC 9v99?

Answer: PIC 9.99 is a four position field that actually contains a decimal point where as 9v99 is a three position numeric field with an implied or assumed decimal point.

Question: what is Pic 9v99 Indicates?

\Answer: PICTURE 9v99 is a three position Numeric field with an implied or assumed decimal point after the first position; the v means an implied decimal point.

Question: What Guidelines Should Be Followed To Write A Structured Cobol Pgm? Answer: 1) Use 'Evaluate' Stmt For Constructing Cases. 2) Use Scope Terminators For Nesting. 3) Use In Line Perform Stmt For Writing 'Do ' Constructions. 4) Use Test Before And Test After In The Perform Stmt For Writing Do-While Constructions.

Question: read the following code. 01 ws-n pic 9(2) value zero. a-para move 5 to ws-n. perform b-para ws-n times.b-para. move 10 to ws-n.how many times will b-para be executed ?

Answer: 5 times only. it will not take the value 10 that is initialized in the loop.

Question: What is the difference between SEARCH and SEARCH ALL? What is more efficient?

Answer: SEARCH is a sequential search from the beginning of the table. SEARCH ALL is a binary search, continually dividing the table in two halves until a match is found. SEARCH ALL is more efficient for tables larger than 70 items.

Question: What are some examples of command terminators?

Answer: END-IF, END-EVALUATE

What care has to be taken to force program to execute above 16 Meg line?

Answer: Make sure that link option is AMODE=31 and RMODE=ANY.Compile option should never have SIZE(MAX).BUFSIZE can be 2K, efficient enough.

Question: Give some advantages of REDEFINES clause.

Answer: 1. You can REDEFINE a Variable from one PICTURE class to another PICTURE class by using the same memory location.2. By REDEFINES we can INITIALISE the variable in WORKING-STORAGE Section itself.3. We can REDEFINE a Single Variable into so many subvariables.(This facility is very useful in solving Y2000 Problem.)

Question: Why do we code s9(4)comp.Inspite of knowing comp-3 will occupy less space. Answer: Here s9(4)comp is small integer ,so two words equal to I byte so totally it will occupy 2 bytes(4 words).here in s9(4) comp-3 as one word is equal to 1/2 byte.4 words equal to 2 bytes and sign will occupy 1/2 byte so totally it will occupy 3 bytes.

Question: The maximum number of dimensions that an array can have in COBOL-85 is ________.

Answer: SEVEN in COBOL - 85 and THREE in COBOL - 84

Question: What is the LINKAGE SECTION used for?

Answer: The linkage section is used to pass data from one program to another program or to pass data from a PROC to a program.

Question: Describe the difference between subscripting and indexing

Answer: Indexing uses binary displacement. Subscripts use the value of the occurrence.

Question: what is difference between call and link ?

Answer: In case of call , whenever you do changes to the called program you need to compile the calling program also. In case of link , it is not needed .
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Question: Maximum number of columns in a db2 table ?

Answer: 224

Question: I need to view the number of tables existing under one particular Owner. Is it possible? If so, pl give the SQL query for this?

Answer: The query SELECT * FROM SYSTABLES WHERE OWNER= should work.

Question: What is JOIN and different types of JOIN.

Answer: The ability to join rows and combine data from two or more tables is one of the most powerful features of relational system. Three type of joins:1. Equi-join2.Non-equijoin3.self-join

Question: can I alter a table (e.g. adding a column) when other user is selecting some columns or updating some columns from the same table?

Answer: yes possible. until the upation or selection is committed db2 table will not be restructured. new column definition will be there but it will not be included until all the tasks on the table are committed.

Question: How many subqueries can you combine together ?

Answer: Total 16 queries and subqueries are 15

Question: A. What are the different methods of accessing db2 from tso? B.How is the connection established between TSO & DB2?

Answer: A. There are three ways in establishing tso/db2 connection 1. SPUFI 2. QMF 3. CATALOG VISIBILITY B. A thread between TSO & DB2 is established while attempting to make connection between tso & db2.

Question: How many buffer pools are available in db2?

Answer: Ten 32k size bufferpools and fifty 4k size buffer pools (bp0 to bp49)default buffer pools are BP0, BP1, BP2 and BP32.

Question: B37 ABEND during spufi

Answer: The B37 abend in the spufi is because of space requirements , the query has resulted in so many rows that the spufi.out file is not large enough to handle it, increase the space allocation of spufi.out file.

Question: How many Bufferpools are there in DB2 and what are they?

Answer: There are 4 Bufferpools. They are BP0, BP1, BP2 and BP32.

Question: What is the command used by TSO users to invoke DB2?

Answer: DSN RUN

Question: what is the error code -803 ?

Answer: unique index violation

Question: what is a collection?

Answer: A collection is something that every programmer should assign/Specify for every package. this about 1-18 characters long.

Question: What is Skeleton cursor table (SKCT)?

Answer: The Executable form of a Plan. This is stored in sysibm.sct02 table.

Question: what's the equivalent Cobol Data type for Decimal(x,y) in DB2? What does the current SQLID register contain?

Answer: Pic s9(x-y)V9(Y) Comp-3; the current SQLID contains the current authorization ID.

Question: Can we declare DB2 HOST variable in COBOL COPY book?

Answer: NO. If we declare DB2 host variable in COBOL COPY book, at the time of Pre-compilation we get the host variable not defined, because pre-compiler will not expand COBOL COPY book. So we declare it either in DCLGEN with EXEC SQL INCLUDE Dclgen name END-EXEC or we directly hardcode it in the working storage section.

Question: What should be specified along with a cursor in order to continue updating process after commit?    Answer: With Hold option.

Question: WHAT IS THE NAME OF THE DEFAULT db2 CATALOG DATABASE?

Answer: DSNDB06

Question: When Can you be sure that a query will return only one row?

Answer: When you use the primary key and only the primary key in the where-clause.

Question: what is the difference between join and union?

Answer: join is used to retrieve data from different tables using a single sql statement. Union is used to combine the results of two or more sql queries.

Question: What is a correlated subquery?

Answer: In a subquery, if the outer query refers back to the outcome of inner query it is called correlated subquery. That's why the outer query is evaluated first unlike an ordinary subquery

Question: What are the functions of Bind?

Answer: BIND mainly performs two things syntax checking and authorization checking. It binds together all packages into an application plan hence the name BIND. Apart from this bind has optimizer as a subcomponent. Its function is to determine the optimum access strategy.

Question: MAX. NO OF ROWS PER PAGE ? Answer: 127

Question: Can All Users Have The Privilege To Use The SQL Statement SELECT * (DML)?

Answer: no the user should be granted privilege to use it.

Question: What is the size of a data page?  Answer: 4K to 8K

Question: what's the best locksize that you could use when you create a tablespace?

Answer: The answer is Locksize = ANY. Unless you are Sure what's the Purpose of tablespace ie., Read-only or R/W. If you use lock size =any, Db2 would automatically determine what type of locks it should use.

Question: what's the error code for Unique Index Violation ?  Answer: -803

Question: Can you define an Index if the table size less than 10 PAGES?

Answer: NO

Question: What's the Maximum Length of SQLCA and what's the content of SQLCABC?

Answer: The Max length is 136. and the SQLCABC has the Value of SQLCA.

Question: What's the maximum number of volumes that can be added to a STOGROUP?

Answer: The answer is 133.Usually it will be difficult monitor more than 3 or 4 volumes to a Storage group.

Question: What's the maximum number of characters that a tablename can have?

Answer: The answer is 18 characters.

Question: What is the meaning of -805 sql return code?

Answer: Program name not in plan. Bind the plan and include the DBRM for the program named as part of the plan.

Question: when does the sql statement gets executed when you use cursor in the application programming ?

Answer: sql statement gets executed when we open cursor

Question: What does CURRENTDATA option in bind indicate

Answer: CURRENTDATA option ensures block fetch while selecting rows from a table. In DB2V4 the default has been changed to NO. Therefore it is necessary to change all the bind cards with CURRENTDATA(YES) which is default in DB2V3 & earlier to CURRENTDATA(NO).

Question: What is the difference between TYPE 1 index & TYPE 2 index

Answer: TYPE 1 & TYPE 2 are specified when an index is created on the table. TYPE 2 index is the option which comes with DB2V4. With TYPE 2 index data can be retrieved faster as only the data pages are locked and not the index pages. Hence TYPE 2 index is recommended.

Question: What are the levels of isolation available with DB2V4

Answer: CS RR UR( added new for DB2V4 which stands for uncommitted read which allows to retrieve records from the space which has exclusive locks also but data integrity will be affected if this option is used )The best available option for data integrity & data concurrency is CS.

Question: How do you achieve record locking in DB2 in the versions which do not support record level locking?

Answer:  The answer should have read as follows: By having the record length more than half of the page size !Sorry again& Thanks

Question: How do u achieve record level locking in DB2 versions when record level locking is not allowed?

Answer: By having the length of the record greater than that of a page!

Question: In a DB2-CICS program which is acts as co-coordinator and which is participant?

Answer: DB2 - participant CICS- coordinator

Question: What does DML stand for and what are some examples of it?

Answer: Data Manipulation Language. Some examples are SELECT, INSERT, DELETE, REPLACE.

Question: How to define the data items to receive the fetch items for the SQL?

Answer: Using the DSECT, followed by lines of - 'data items DS datatype'.

Question: How will you delete duplicate records from a table?

Answer: Delete From Table1Where Id In (Select Id From Tabel1 As Temp Group By Id Having Count(*) >1)

Question: What is the difference between Where and Having Clause

Answer: WHERE is for Rows and HAVING is for Groups

Question: How to see the structure of db2 table?  Answer: Using QMF.

Question: What is the maximum number of tables that can be stored on a Partitioned Table Space ? Answer: ONE

Question: Name the different types of Table spaces.

Answer: 1. Simple Table Space2. Segmented Table Space and3. Partitioned Table Space

Question: what are the max. & min. no. of partitions allowed in a partition tablespace?

Answer: minimum is 4.maximum is 64.

Question: what is the maximum number of tables that can be joined ? Answer: fifteen

Question: What technique is used to retrieve data from more than one table in a single SQL statement?

Answer: The Join statement combines data from more that two tables

Question: What is a foreign key?

Answer: It identifies a related row in another table and establishes a logical relationship between rows in two tables.

Question: Explain the use of the WHERE clause.

Answer: It directs DB2 to extract data from rows where the value of the column is the same as the current value of the host variable.
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Question: How do you fix the problem associated with VSAM out of space condition?

Answer: 1. Define new VSAM dataset allocated with more space. 2. Use IDCAMS to REPRO the old VSAM file to new VSAM dataset. 3. Use IDCAMS to ALTER / rename the old VSAM dataset or se IDCAMS to DELETE the old VSAM dataset. 4. Use IDCAMS to ALTER / rename the new VSAM dataset to the name of the original VSAM dataset.

Question: What is the meaning of VSAM RETURN-CODE 28?

Answer: Out of space condition is raised.

Question: Correction to the previous question - You can have ALT INDEX only on KSDS and ESDS - not RRDS.

Answer: See the question for correction - you cannot have ALT INDEX for RRDS.

Question: How many Alternate Indexes you can have on a dataset? - Remember ALT INDEX is possible only on KSDS and RRDS.

Answer: 255 - but you must be a nut to have so many ALT Indexes on a dataset!

Question: Is it slower if you access a record through ALT INDEX as compared to Primary INDEX?

Answer: Yes. Why? Because the alternate key would first locate the primary key, which in turn locates the actual record. Needs twice the number of I/Os.

Question: What is RECOVERY and SPEED parameters in DEFINE CLUSTER command?

Answer: RECOVERY (default) and SPEED are mutually exclusive. Recovery pre-formats the control areas during the initial dataset load, if the job fails, you can restart but you must have a recovery routine already written to restart the job. SPEED does not pre-format the CAs. It is recommended that you specify SPEED to speed up your initial data load.

Question: describe SHAREOPTIONS parameter (SHR) in Define Cluster command.

Answer: It defines the cross-region and cross-system sharing capabilities of the dataset. Syntax is SHR(CRvalue CSvalue) value 1 means multiple read OR single write (read integrity) 2 means multiple read AND single write (Write integrity) 3 means Multiple read AND multiple write 4 is same as 3, which refreshes the buffer with every random access. default is SHR(1 3).

Question: What does the KEYRANGES parameter in Define Cluster commend do?

Answer: It divides a large dataset into several volumes according to the Keyranges specified. e.g., KEYRANGES ((0000001 2999999) (3000000 5999999)). if the activity on the key ranges are evenly distributed, concurrent access is possible, which is a performance improvement.

Question: What are the optional parameters to the input dataset While loading the empty cluster with the data records?

Answer: 1)FROMADDRESS(address) 2)TOADDRESS(address) where 'address' specifies the RBA value of the key of the input record. 3)FROMNUMBER(rrn) 4)TONUMBER(rrn) where 'rrn' specifies the relative record number of the RRDS record 5)FROMKEY(key) 6)TOKEY(key) where 'key' specifies the key of the input record 7)SKIP(number) 8)COUNT(number) where 'number' specifies the number of records to skip or copy Ex: REPRO INFILE(DD1) OUTFILE(DD2) SKIP(9000) COUNT(700) - Skips the first 9000 records and begins copying at 9001 and copies 700 records from DD1 to DD2.

Question: What is IDCAMS? and what is the purpose of it?.

Answer: IDCAMS is an access method services utility used for creating, deleting, altering VSAM files and copying sequential file to a VSAM file, etc.

Question: How to delete a member using JCL.

Answer: Using IDCAMS a member can be deleted. DELETE 'XXX.YYY(member)

Question: What is the Difference between LDS & ESDS ?

Answer: These two datasets are VSAM datasets. ESDS maintains control information. But LDS does not maintains the control information.

Question: A. Is a delete operation possible in an ESDS? B.Is rewrite operation possible in ESDS ?

Answer: A. No delete operation is not possible in VSAM ESDS. B. Yes rewrite operation is possible in an ESDS.

Question: What is an alternate index and path ?

Answer: An alternate index is an another way of accessing key sequenced data record stored in a base cluster and path is the linkage which connect alternate index to its base cluster.

Question: How many buffers are allotted to VSAM KSDS and ESDS?

Answer: Ans:2 data buffers by default for ESDS. for KSDS it allots 2 data buffers and 1 index buffers. each buffer is about 4k.

Question: what's the biggest disadvantage of using a VSAM dataset?

Answer: FREE SPACE(FPSC)

Question: what's the device independent method to indicate where a Record is Stored?

Answer: The answer is : By USING RBA(Relative Byte Address).

Question: Q: How Many Times Secondary Space Allocated? Answer: A: 122 Times

Question: what is the RRN for the first record in RRDS? Answer: The answer is : 1

Question: what is a Base Cluster?

Answer: The Index and data components of a KSDS
Question: If fspc(100 100) is specified does it mean that both the control interval and control area will be left empty because 100 % of both CI and ca are specified to be empty?

Answer: no, they would not be left empty. one record will be written in each CI and 1 CI will be written for each ca.
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Question: what are the differences between dfhcommarea and tsq ?

Answer: both are used to save data among tasks. but 1. commarea is private to that transaction only . like every transaction has its own commarea created by cics as soon as the transaction is initiated . however tsq , if qid is known can be accessed by other transactions also 2. commarea length is s9(4) comp ie 65k . but tsq can have any length.3. commarea is available only during the transaction is running. tsq if created with auxiliary option resides in aux memory and available even if main memory crashes.4.normally commarea is used to transfer data from one task to another while tsq is used widely within the task as a scratch pad.

Question: What is Communication Area?

Answer: Communication Area is used to pass data between the program or between the task.

Question: Which of the following statements correctly describe the syntax of CICS command language? A) If an EXEC CICS command must be continued onto a second line a hyphen (-) must be coded in column 7 of the continued line. B) If an EXEC CICS command must be continued onto a second line an 'X' must be coded in column 72 of each line to be continued. C) An EXEC CICS command CANNOT be coded within a COBOL IF statement, between the IF command and the period (.) ending it. D) The END-EXEC delimiter is optional and never needs to be placed at the end of a CICS command. E) The options specified within an EXEC CICS command can be in any order. For example 'EXEC CICS SEND FROM(MSG1) LENGTH(30) END-EXEC' can also be coded 'EXEC CICS SEND LENGTH(30) FROM(MSG1) END-EXEC'

Answer: E) The options specified within an EXEC CICS command can be in any order. For example 'EXEC CICS SEND FROM(MSG1) LENGTH(30) END-EXEC' can also be coded 'EXEC CICS SEND LENGTH(30) FROM(MSG1) END-EXEC'

Question: .A CICS program ABENDS with an ASRA ABEND code. What is its meaning? A) A link was issued to a program whose name does not exist in the PPT (Program Processing Table). B) A program attempted to use a map that is not defined in the PCT (Program Control Table). C) A security violation has occurred. The operator is not defined with the proper authority in the SNT (Sign-on Table) to use a particular file. D) A program interrupt (0C0 or 0C1 or 0C2 or ...) has occurred in a CICS program. E) An I/O error has occurred when attempting to use a VSAM file from a CICS program

Answer: D) A program interrupt (0C0 or 0C1 or 0C2 or ...) has occurred in a CICS program.

Question: Which of the following commands, when issued by 2 different programs running at the same time, will prevent simultaneous use of resource 'SINGLE'? . B) EXEC CICS PROTECT RESOURCE('SINGLE') LENGTH(6) END-EXEC. C) EXEC CICS HOLD RESOURCE('SINGLE') LENGTH(6) END-EXEC. D) EXEC CICS TASK SINGLE('SINGLE') LENGTH(6) END-EXEC. E) EXEC CICS EXCLUSIVE RESOURCE('SINGLE') LENGTH(6) END-EXEC.

Answer: E) EXEC CICS EXCLUSIVE RESOURCE('SINGLE') LENGTH(6) END-EXEC

Question: 1.The map shown below is displayed with: EXEC CICS SEND MAP('MAP1') MAPSET('MAP1S') MAPONLY END-EXEC. After the screen is displayed, the operator enters 1 character, the letter 'X'. Where will the cursor now appear on the screen?MAP1S DFHMSD TYPE=MAP,MODE=INOUT,CTRL=(FREEKB,FRSET),LANG=COBOL, X TIOAPFX=YESMAP1 DFHMDI SIZE=(24,80) DFHMDF POS=(5,1),ATTRB=UNPROT,LENGTH=1FIELD2 DFHMDF POS=(5,3),ATTRB=UNPROT,LENGTH=1FIELD3 DFHMDF POS=(5,5),ATTRB=(UNPROT,IC),LENGTH=1FIELD4 DFHMDF POS=(5,7),ATTRB=ASKIP,LENGTH=1FIELD5 DFHMDF POS=(5,9),ATTRB=UNPROT,LENGTH=1,INITIAL='Z' DFHMDF POS=(5,11),ATTRB=ASKIP,LENGTH=1 DFHMSD TYPE=FINAL A) In the field with a POS=(5,1) B) In FIELD2. C) In FIELD3. D) In FIELD4. E) In FIELD5.

Answer: E) In FIELD5

Question: How can you accomplish breakpoint in intertest?

Answer: U-for unconditional breakpoint, C-for conditional braykpoint, and A-for automatic breakpoint

Question: how many ways are there for initiating a transaction? what are they?

Answer: There are six ways in initiating a transaction. they are as follows.1. embedding four character transid on the top left most corner of the screen.2. making use of EXEC CICS START TRANSID ( )3. making use of EXEC CICS RETURN TRANSID ( ) 4. By defining the transid in DCT ( destination control table) to enable ATI (AUTOMATIC TASK INITIATION)5. Making use of PLT ( program list table)6. By associating four character transid in PCT (program control table)

Question: which type of TDQ is read destructive?

Answer: intrapartition tdq is read destructive. extrapartition tdq is not read destructive.

Question: The error code aeiv?

Answer: this is the error code for length,if length of the source data is more than the receiving field,this error will occur. 

Question: What U Mean By AEIV ?

Answer: This Is The Error Code Given By The System ,It Means Program Id Error.

Question: What Is The Size Of COMMAREA

Answer: The Default COMMAREA Size Is 65K.

Question: What is ASRA ABEND in CICS?

Answer: It occurs when program interruption takes place. e.g.: when alphanumeric string moved to numeric data item OR when arithmetic calculations performed on nonnumeric data item OR when an attempt made to read an occurrence of a table beyond the defend occurances. ISN'T IT?

Question: Very important question: What is a two Phase commit in CICS?

Answer: This occurs when a programmer Issues a Exec CICS Syncpoint command. this is called two phase because CICS will first commit changes to the resources under its control like VSAM files. and the DB2 changes are committed. Usually CICS signals Db2 to complete the next phase and release all the locks.

Question: Difference between TSQ & TDQ

Answer: TDQ is read destructive, TSQ is not. TSQ can be created dynamically, TDQ cannot be created dynamically. TSQ is temporary in nature (i.e. it will be deleted when the program finishes execution, unless it is made permanent by making a entry in the Temporary Storage Table), TDQ is not. Hope this will suffice

Question: What is ENQ in CICS?

Answer: If any one want to restrict Trans-Id to single user, enter trans-id with ENQ. It won't allow any one else to use the same trans-id.

Question: In SYMBOLIC Cursor Positioning after moving -1 to the length field also the cursor is not positioned in that particular field. Give reasons?

Answer: You have to explicitly specify the word CURSOR between your EXEC CICS and END-EXEC in the program.

Question: What does EIB mean?

Answer: The EIB is the EXECUTIVE INTERFACE BLOCK. It is not the EXECUTE INTERFACE BLOCK. All TP monitors or transaction processors are know as EXECUTIVEs as they carry out process on behalf of a program module. CICS and DB2 are excutives.

Question: How many exceptional condition can be given in a HANDLE CONDITION?

Answer: Max. of 12 exceptional conditions can be given in a single HANDLE CONDITION.

Question: What command do you issue to delete a record in a transient data queue ? Answer: READQ TD, the read is destructive. Yes it is correct but there is a restriction can delete the records sequentially.. For example if one want to delete 10th record directly it is not possible with this..

Question: How do you access the records randomly in TSQ ?

Answer: By specifying the ITEM option

Question: What command do you issue to delete a record in a transient data queue ?

Answer: READQ TD, the read is destructive.

Question: What Are Different Ways Of Initiating Transaction In CICS

Answer: We Can Initiate CICS Transaction) By Giving Transaction IDB) By Giving Cics Start Commands) Automatic Task Initiation.

Question: What is the difference between LINK and XCTL ?

Answer: The XCTL command passes control to another program, but the resources requested by the first program may still be allocated. A task does not end until a RETURN statement is executed. While in LINK command, program control resumes its instruction following the LINK parameter. The disadvantage of LINK is that it requires that both the calling program and the called program remain in main memory even though both are no longer needed.

Question: What is the difference between CICS Program Control Table (PCT) and CICS Processing Program Table (PPT) ?

Answer: PCT contains a list of valid transaction ID. Each transaction ID is paired with the name of the program ,CICS will load and execute when the transaction is invoked. On the other hand, PPT indicates each program's location which pertains to a storage address if the program has already been loaded or a disk location if the program hasn't been loaded. PPT will also be used to determine whether it will load a new copy of the program when the transaction is invoked.

Question: What are the 3 common ways to create maps?

Answer: The first way is to code a physical map and then code a matching symbolic map in your COBOL program. The second way to create a physical map along with a matching symbolic map is to code only the physical map using the &SYSPARM option, CICS will automatically create a member in a COPY library. And the third way is to use a map generator such as SDF (Screen Definition Facility)

Question: What is Quasi-reentrancy?

Answer: There are times when many users are concurrently using the same program, this is what we call Multithreading. For example, 50 users are using program A, CICS will provide 50 Working storage for that program but one Procedure Division. And this technique is known as quasi-reentrancy

Question: What is the difference between a physical BMS mapset and a logical BMS mapset?

Answer: The physical mapset is a load module used to map the data to the screen at execution time. The symbolic map is the actual copybook member used in the program to reference the input and output fields on the screen.

Question: How To Set MDT(Modified Data Tag) Thru Application Program?(Dynamically).

Answer: You have to move the following macro DFHBMFSE to the Attribute field of that particular Variable.

Question: What CICS facilities can you use to save data between the transactions?

Answer: COMMONAREA, TSQ & TDQ.

Question: How would you release control of the record in a READ for UPDATE?

Answer: By issuing a REWRITE,DELETE, or UNLOCK command or by ending the task.

Question: How would you release control of the record in a READ for UPDATE?

Answer: By issuing a REWRITE,DELETE, or UNLOCK command or by ending the task.

Question: What is the difference between a RETURN with TRANSID and XCTL ?For example prog. A is issuing REUTRN with TRANSID to prog B. Prog A. is issuing XCTL to prog B.

Answer: In RETURN with TRANSID the control goes to the CICS region and the user have to transfer the control to prog. B by pressing any of the AID KEYS. In XCTL the control is directly transfer to prog. B.

Question: What is the maximum number of exceptions that can be specified with a single HANDLE CONDITION command in CICS ?  Answer: SIXTEEN (16)

Question: What Will Be The Length Of The EIBCALEN ,If The Transaction Is Used To CICS First Time?  Answer: The Length Will Be 0(Zero).

Question: What Is DFHEIBLK?

Answer: DFHEIBLK is Execute Interface Block. It is placed in the linkage section automatically by CICS translator program. It must be the first entry in linkage section. CICS places values prior to giving control to the program and we can find almost any information about our transaction.

Question: What is the difference between the XCTL and LINK commands?

Answer: The LINK command anticipates return of control to the calling program, the XCTL command does not. Return to the calling program will be the result of the CICS RETURN command, specifying TRANSID(name of the calling program).

Question: What CICS command would you use to read a VSAM KSDS sequentially in ascending order?

Answer: First issue a STARTBR(start browse), which will position the browse at the desired record. Retrieve records by using subsequent READNEXT commands. Indicate the end of sequential processing with the ENDBR command. If the generic key is specified in the STARTBR command positioning in the file will be before the first record satisfying the generic key. For reading in descending order use the READPREV instead of READNEXT.

Question: What is the difference between pseudo-conversational and conversational?

Answer: Pseudo-conversational will start a new task for each input. By coding a CICS RETURN command specifying TRANSID(itself). Conversational will have an active task during the duration of the data entry.

Question: What is the COMMAREA(communications area)?

Answer: An area used to transfer data between different programs or between subsequent executions of the same program. Needs to be defined in the Linkage Section.
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Question: What is the physical nature of a database called? Answer: DBD

Question: Is it necessary that all the segments in a Dl/I database have key fields ?

Answer: It is not necessary that all the segments in the database should have key field, expect for the database.

Question: How man key fields and search fields can a segment have?

Answer: One key field and as many search fields in the segment can be declared.

Question: Is it necessary that the key field in a Dl/I database be unique?

Answer: No, it is no necessary.

Question: What is a key field in an IMS database?

Answer: A Field that DL/I uses to maintain the segments in the ascending order is called the key field

Question: What is a database record?

Answer: A single occurrence of the root along with all its dependents is called the database record.

Question: What is a Hierarchy path?

Answer: A line that starts at the root and passes thru the inter mediate levels in the hierarchy and ends at the a segment at the bottom of the hierarchy is called the Hierarchy path.

Question: What is a Root?

Answer: The segment at the top of the Hierarchy, which is not a child to a segment is called the Root.

Question: What are Twins?

Answer: Occurrences of all the segment types under a single parent segment occurrence is called a Twin.

Question: Define the terms Parent & Child.

Answer: Parent-Any segment that has one or more segments directly below it is a Parent. Child-Any segment that has segment directly above it is called the Child.

Question: What is the limitation on the no. of levels in a DL/I database?

Answer: You can have 15 levels in a DL/I database

Question: How many segment types can u have in a DL/I database?

Answer: A Dl/I database can have 255 segment types

Question: What is a Segment type?

Answer: Loosely speaking a segment type is a segment in a Dl/I hierarchy chart.

Question: What is a segment?

Answer: A segment is the smallest unit of information that Dl/I uses when working with information in the database

Question: What is Hierarchy Chart?

Answer: A Hierarchy chart is a pictorial representation of the total of a DL/I database starting from the root, giving all the parent child relationships that exist within the database

Question: what are the control blocks in IMS ?

Answer: there are two control block.1.dbd(database descriptor)2.psb (program specification block)

Question: which is the first statement in cobol-ims programs?

Answer: entry statement is the first statement after procedure division i.e. ENTRY 'DLICBL' USING .....

Question: What is the return code you get after a successful IMS call? Answer: Spaces.

Question: Define DBD?

Answer: DBD : Database Descriptor. IMS Controls the Structure of DB and access to the DB via DBD. The DBD contains information like, Segment types, their location in hierarchy and Sequence keys.

Question: How Can We Distinguish Between An Online And Batch Program In IMS Environment?

Answer: By Seeing The IO-PCB In The Application Program.

Question: Which Is The DLI Function Used In CICS-IMS Program?

Answer: PCB (Program Communication Block)

Question: How does one REORG an HDAM IMS database when changing RAPS (Root Anchor Points)?

Answer: 1. Unload data using current DBD. 2. Delete/define the underlying VSAM dataset(s). 3. Re-load data using newly-defined DBD with new RAPs. 4. Re-build any secondary indexes.
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